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MEREIEDES #RFE AR

[EARF]201748 190 (E) - 20H(H) [£BINAKXZE F1HE

<2fk>

JIE £z K4 iz FE "R

1 NEC I o HRKE X4 5.90

2 i5Er [ER WmAKE X2 4.35
<3F/k>

JIE £z K4 iz FE "R

1 KR #E& WmAKE X2 6.00

2 Nk ¥ HRXE K1 5.95

3 R AE HRXE X2 5.70

3 TE BPE WmAKE X2 5.70

5 K& KREBE FURKZE X1 5.55

6 iR BREF WmAKE X1 5.50

7 K EKX BiaaXE X1 5.15

8 #MER %I HRXE X2 5.10

9 E FIR FURKZE X1 4.95

10 #E BE EHE=MKE X2 4.45

11 KF EE FURKZE X1 3.65

12 #E #5h PR KZF X1 3.50

13 A &X BREK K2 X2 3.35

14 Ba[f% MY WmAKZE X3 2.85

15 Il #EE HRXE X2 2.80
<4#{>

JIE £z K4 i FHE "R

1 Fl EA WmAKZE X1 4.15
<5#F>

JIE £z K4 i FHE "R

1 ¥ B EHEENKE X1 4.10

2 AIE W& BiaaXE X1 4.05

3 B MER BiaaXE X1 3.70
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T ERDE REIR ke E

[#ARS)201748H198(+) - 20H(H) =) LN 2 E1RE

<2#k>

JE £ K4 g 2E "R

1 K BkZEF BRER K= X4 5.65

2 BEF IE1R mAKZE X2 4.45

3 I JefE HRKZF X2 4.20

4 il & mAKZE X4 3.95

5 mH BN LHEZEMKE X4 3.60

6 mH Eh NS X3 3.55

7 ST 1y LHEEMKE X3 2.15
< 3R>

JE K4 g =ak=3 "R

1 =R KIE WAKZE X3 3.90

2 LR T BRIk K= X2 3.10
<4#kh>

JE 4z K4 g =ak=3 "R

1 WE B RIRKZFE X4 2.35

2 NN E 54 IR PNES X4 2.05

3 KR E& WMAKZE X2 1.70
<5#k>

JE 4L K4 g FE SI=t

1 TE P WARKZE X2 1.75

2 KF EE RIRKE X1 1.65

3 #E f5h RIRKE X1 1.60

4 bR % IR PNES X2 1.40

5 FE AR RIEKE X1 0.80

5 Ei 7 N EREBHKZFE X1 0.80

7 A &X BRIk KF X2 0.75

7 R BREF WAKZE X1 0.75

9 # Bx mAKE X1 0.65

10 ARER M AHE=MKE X2 0.60

10 K& K&k RIRKE X1 0.60




F13E £ ARFES— i EFHEXR

MEFRDES RFBEFTR

[#ARH])20178A19H(L) - 20H(H)

[EFIMAKXRE E1{EFE

<HBHHKU>
[[:Xiva K4 il FAF E3=1
1 JIl £ #34 HiRKFE X4 8.25
2 #E #3540 RIRKE X1 6.75
2 ARER M <F ZEE=NRE X2 6.75
4 fE 2 4 LHE=EMKE X3 6.70
5 SHF EUH RRRBKFE K1 6.35
6 INE R ZEE=NRE X3 6.05
7 KB REE FIRKEFE X1 5.75
< GARNEEY Bk >
g fiz K4 il FE TR
1 #wmK EX E&i B KE X1 5.70
1 R BREF WARKRE X1 5.70
3 ik % HRKRE X1 5.55
3 LR == HRKRE X2 5.55
5 TEF FIR FIRKEF X1 5.25
6 Fl BEH WARKRE X1 5.10
7 AIE HhE BnaKE K1 4.90
8 B ER L3I N X1 4.75




